Stoichiometry Dry Lab
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answer this question for moles of 02 also

3
answer this question for mass of N2 in grams



Appendix A-36

Stoichiometry

Just as the subscripts in the formula of a compound tell us how the quantities of atoms are related
within a molecule, the stoichiometric coefficients in a balanced reaction tell us about how the
quantities of reactant and product molecules (or formula units) are related to each other. These can
also be setup as ratios or equalities to allow us to solve chemical calculations.

For example, in the reaction:
A'g(SOq.)g + BBa(OH)Z ¥ 383804 + 2A|(OH)3

The following 12 mole-mole relationships can be established:

1mol AL (SO,),  1molAl(S0,) 1molAl(SO,). 3mol Ba(OH), 3molBa(OH),  3molBasO,
Fumth8s (@tiocals3 mol BaSO,  2mol AI(OH).  3molBaSO, 2 mol AI(OH), 2 mol AI(OH).

1. Determine at least 3 possible mole-mole relationships that can be derived from the following
equation.

NH3 = 02 — Nz x HQO

2. Given: & KCIO3(s)»> 3 0, (g) + Z Kcl (s) How many moles of KCl is produced when
12.5 mol KCIO; is decomposed?
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3. The reaction N2(9) + =2 Ha(g) - 22 NHs(g) is used to produce NHs;. How many
moles of H,(g) are required to produce 2.50 g of NHs(g)?
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4. Given: MgCO5(s) — MgO(s)™+ COy(g) Calculate the grams of CO,(g) produced from the
decomposition of 17.2 g of MgCOs(s).

SRJC - Petaluma Campus Chemistry 60 — Fall 2017



